
209

3.23 COMPUTER STUDIES (451)

3.23.1 Computer Studies Paper 1 (451/1)

SECTION A (40 marks)

Answer all the questions in this section in the spaces provided.

1 Write each of the following acronyms in full as used in computing.   (2 marks)

  !"# $%&

  '"# &(&

 (c) WORM

 (d) POS

2 A school keeps student records in a database. The data is coded before entry. 

 State three reasons why the coding is necessary.     (3 marks)

3# &)**+,+-.)!.+#'+./++-#011#!-2#11#)-#!-#+3!)45# # # # # (2 marks)

4 State three risks posed by improper cabling in a computer laboratory.  (3 marks)

5 List two career opportunities directly associated with computer networking. (2 marks)

6# %#,+.!)4+,#67+7#!#78,+!279++.#8,:;,!3#.:#1!4164!.+#8,:<.75#Figure 1 shows the spreadsheet.

A B C & E F

1 Items Cost 

Price

Selling 

Price

 !"#$%

per Item

Items 

sold

Total 

 !"#$

2 Item 1 305 350 45 32 1440

3 Item 2 100 120 20 45 900

4 Item 3 200 220 20 32 640

5 Item 4 107 130 23 89 2047

    Figure 1

  !"# =9)19#,:/#1:-.!)-7#4!'+47#:-4>?# # # # # # (1 mark)

 (b) Write the formula that has been entered in cell F2.   (2 marks)

7 State three reasons why an organisation may opt to develop its own software in-house rather  

 than buy off-the-shelf software.       (3 marks)
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8 The topology below is formed by combining two types of topologies.

  
      Figure 2

 (a) Give one name for the combined topology in #&'!(%).   (1 mark)

 (b) Name the two topologies forming the combined topology in #&'!(%). (2 marks)

9 An organisation intends to replace an existing system by carrying out the process in   
 stages. 

 (a) Name this implementation strategy.    (1 mark)

 (b) Give two reasons why the organisation is opting to use the implementation strategy in  

  (a) above.  (2 marks)

10 (a) Explain the importance of disk partitioning.     (2 marks)

#  '"# &)**+,+-.)!.+#'+./++-#8644@2:/-#3+-6#!-2#8:8@68#3+-6#!7#67+2#)-#A,!89)1!4#B7+,##

  Interface (GUI) operating systems.            (2 marks)

11 The 21st century has had many forms of ICT technologies improving the various means of  
# 1:336-)1!.):-5#C:/+D+,E#.9+7+#19!-;+7#9!D+#',:6;9.#3!->#19!44+-;+75

 State three negative social impacts of these technologies.   (3 marks)

12# FG84!)-#/9>#!#&HI#!884)1!.):-#/:642#'+#8,+*+,,+2#.:#!#/:,2#8,:1+77)-;#!884)1!.):-#/9+-##
 designing a publication.          

(2 marks)

13 A computer is idle but the hard disk light is blinking, indicating some activity. 

 State two possible causes of this.       (2 marks)

14# &+71,)'+#compatibility as a factor to consider when purchasing a computer. (2 marks)

15 Identify the appropriate output device for the production of each of the following:

 (a) receipts where carbon copies are required;     (1 mark)
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 (b) an architectural drawing where precision is required;   (1 mark)

 (c) output where the user is visually impaired.     (1 mark)

SECTION B (60 marks)

Answer question 16 and any other THREE questions from this section in the spaces provided. 

16 (a) Figure 3#79:/7#!#J:/19!,.5##B7+#).#.:#!-7/+,#.9+#K6+7.):-7#.9!.#*:44:/5

 #  )"# &+.+,3)-+#.9+#:6.86.#*,:3#.9+#J:/19!,.#)*L# #

   I. X = 5;        (2 marks)

   II. X = 7.        (2 marks)
      

  (ii) =,).+#!#I7+62:1:2+#*:,#.9+#J:/19!,.#)-##&'!(%*.   (5 marks)
 

  (iii) M:2)*>#.9+#J:/19!,.#7:#.9!.#).#1!-#'+#67+2#.:#;+.#.9+#763#:*#)-.+;+,7#'+./++-##

   50 and 100.        (4 marks)
 

 (b) List two programming language translators.     (2 marks)
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17#  !"# &+71,)'+#three types of validation checks as used in data processing. (6 marks)

#  '"# %#1:38!->#9!7#:8.+2#.:#7.:,+#).7#+384:>++7N#8+,7:-!4#2+.!)47#)-#!#1:386.+,#7>7.+35
# # &+71,)'+#two software methods that may be used to prevent unauthorized access to  
  these details.         (4 marks)

#  1"#  )"# &+71,)'+#+!19#:*#.9+#following data processing modes:

   I. real-time;       (2 marks)

    II. interactive.       (2 marks) 

 (ii) State an application area where real-time data processing mode is applied. (1 mark)

18 Figure 4 shows an advert placed in a newspaper. Use it to answer the questions that 
 follow.

K
sh

 4
8
,0

0
0
0

NEW ARRIVALS - LAP TOP COMPUTER

C
A

L
L

 0
6
2
2
 4

0
5
4
0
5

HDD Windows 8

   300 GB C:3+#F2).):-

RAM Free Suite

   512 MB O#=:,2#8,:1+77:,

Clock Speed O##P8,+!279++.

####Q5R#ACS#G#Q O##&HI

T8.)1!4#&,)D+ O##I,+7+-.!.):-

########&(& O##U-.+,-+.#',:/7+,

Screen O##F3!)4

17 inches  Keyboard, Mouse, Modem

Parallel port USB, serial

THCFV#I$7#%(%UW%0WF

          Figure 4

#  !"#  )"# &+<-+#!#4!8.:8#1:386.+,5      (1 mark)

  (ii) The screen is said to be 17 inches. Explain what this means.  (2 marks)

 (b) State one advantage of having each of the following provided with a laptop.

  (i) modem ....................................................................................................................

  (ii) USB ........................................................................................................................

  (iii) free suite .................................................................................................................

       (3 marks)
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 (c) State the software package in the free suite which is most suitable for each of the   

  following:

  (i) computing budgets .................................................................................................

  (ii) creating documents .................................................................................................

  (iii) designing of brochures ...........................................................................................

  (iv) records management................................................................................................

            (4 marks)

 (d) (i) State three advantages of using a computer to design an advert such as the one  

   in Figure 4.       (3 marks)

  (ii) State two#'+-+<.7#:*#9!D)-;#.9+#!2D+,.#684:!2+2#:-#.9+#)-.+,-+.5#  Q#3!,X7"

 

19# %#/:,X+,#)7#6-!'4+#.:#.,!D+4#.:#.9+#:*<1+#'6.#3!>#7.)44#'+#!'4+#.:#2:#.9+#:*<1+#/:,X#.9,:6;9##

 telecommuting.

 (a) Explain why the worker may use each of the following:

  (i) email;         (2 marks)

  (ii) fax;         (2 marks)

  (iii) digital camera;        (2 marks)

# #  )D"# <,+/!445# # # # # # #  Q#3!,X7"

        

#  '"# H9+#/:,X+,#-++27#.:#3!X+#,+;64!,#'!1X687#:*#2:163+-.7#7+-.#.:#.9+#:*<1+5#

  State three reasons for this.       (3 marks)

 (c) Explain two#'+-+<.7#.9!.#.9+#+384:>+,#/)44#;+.#'>#!44:/)-;#.9)7#/:,X+,#.:#2:#.9+## #

# # :*<1+#/:,X#.9,:6;9#.+4+1:336.)-;5### # # #  Y#3!,X7"

20  !"#  )"# &)**+,+-.)!.+#'+./++-#:-+N7#1:384+3+-.#!-2#./:N7#1:384+3+-.#)-#2!.!## #

   representation.   (2 marks)

 

  (ii) Explain the preference of binary number systems over decimal number systems  

   in computers.        (2 marks)

#  '"#  )"# B7)-;#:-+N7#1:384+3+-.E#76'.,!1.#Z[[[ZZ
2
 from 010010

2
. (4 marks)

  (ii) Convert the number 21.03125
10

 to its binary equivalent.  (5 marks)

 (c) Perform the following binary operations.

  1101 + 11011 + 101 + 11111     (2 marks)
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